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(F&77) (m) (m) (m2) (m2) (m) (m) (m2) (m2) (m) (m) (m2) (m2) (m) (m) (m) (m3) (kg/m3) ® (t)

@) 1 2.00 16.20 32.40 32.4 607.73 | 606.73 1.0 1.000 32.4 200 6.5 6.9 | Fc=1050kN/m2
O~® 3 6.60 2.00 13.20 39.6 607.73 | 605.23 2.5 2.500 99.0 200 19.8 21.0 | Fc=1050kN/m2

@) 1 2.00 16.20 32.40 32.4 607.73 | 603.73 4.0 4.000 129.6 200 26.0 27.6 | Fc=1050kN/m2
@~® 4 6.60 2.00 13.20 52.8 607.73 | 603.23 4.5 4.500 237.6 200 47.6 50.5 | Fc=1050kN/m2

©) 1 2.00 16.20 32.40 32.4 607.73 | 602.73 5.0 5.000 162.0 200 32.4 34.4 | Fc=1050kN/m2
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